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From the answers given in the Parentheses select the right answer and write on the dotted
line.

1. The gas which contain 20.95% vOIuME Of Q1T .......cocuiiiiiiiiiiiiie e
(Nitrogen / oxygen / carbondioxide)

2. The temperature decrease with altitude in the [ayer ...........ccoooiiiiiiiiiiiiiii e
( Troposphere / Stratosphere / Mesosphere)

3. Favourable climate for worlds fruit CUltiVAtION .......oooooiiiiiiiiiiiiiii
(Mediterranean / Tropical / Thundra)

A e has become the major ship building country in the world.
(Russia / China / South Korea)

5. The largest ground water deposite found in Sri Lanka ........cccccoceeviiiiniiiiniiniecee
(Kalpitiya / Thalei - Mannar / Wanathavillu).

e Circle the correct answer as (c) and incorrect answer as (w)

6. The largest ocean in the world is Pacific. (c/w)
7. Population density means number of people per square kilo meter. (c/w)
8. Capital of Brazil is Rio — de Janeiro. (c/w)
9. The crust separates from mantle by Gutenberg discontinuity. (c/w)
10. The prices of Agricultural goods fluctuates very rarely in the world market. (c/w)

o Write the correct answer in the given space question number 11 - 19.
11. Taking a short period to double the population since 1750 AD Known as .........cccceeveenieniienienneennnen.

12. The countries of the world divides into ............cceeceeereennennen. according to human development index.
13. Winds which blow across the bay of Bengal Known as ...........ccccoovieiiiiiiiiiiiiniiieccee e
14. Annual production of goods and services 0f @ COUNLTY .......ccecveiriiieiiiieiie et

15. Life expectancy at birth, literacy rate, purchasing power, and ...........cccccceevierciienieniienienneennen. are
main indicators of human development index.
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In which year the highest growth of population has been recorded

. the population growth started decreasing continuously.

Census were due to conduct in every

Match A and B columns to find the correct answer and write on the dotted line..

IAI

Minor export crops

1. Flowers

2. Cashew

3. Citrus

(1) A,B,C (2) B,D,A
VAV

1. Pinatubo

2. Fujiyama

3. Etna

(1) C,A,D (2) D,A,C
YAY

Continent

1. North America

2.  South America

3. European continent

(1) A,B,C (2) B,D,A

VBI

Areas

A — Matara, Humbantota

B — Nuwara Eliya, Badulla

C — Kandy, Matale

D — Mannar, Puttalam

3) A,D,B 4) C,A,D
VB'

Countries

A — Japanese island

B - Iceland

C - Phillipines

D —sicilly islands

3) AC,D 4) D,A,C
VB'

River

A - Parana

B - Daniub

C - Mississppi

D - Niger

3) A,D,B 4) C,A,D

2



23.

25.

26.

27.

28.

29.

30.

VAV VB'
Spread of contours Physical feature.
1. Protruding contours towards lowland. A - Valley
2. Protruding contours towards Highland. B - Escarpment
3. Overlapping contours at a highland. C — convex slope
D - spur
(1) D,A,B (2) A,B,D (3) B,A,D 4) D,C,B
VAV VBI
1. Rubber A — Aluvial soil
2. Tea B — Loam Laterite soil
3. Wheat C — Kabok mixed soil
D — Chernosm soil
(1) D,B,C (2) B,C,D (3) C,B,D 4) B,D,C

Select the most suitable answer from the given and write it on the doted line .

What is the sea limit of a country according to the international convention sea.

12 nautical miles from the coast.

The sea area between 12 — 24 nautical miles.
The sea area between 24 — 200 nautical miles.
200 nautical miles from the coast.

b=

The biggest lake and the lake located at the highest elevation.
1. Eyer and Titicaca 2. Superior and Bikal
3. Victoria Ladoga 4. Superior and Titicaca

Po — river valley 1s famous for,
1. Paddy cultivation 2. Wheat 3. Corn

Kaolin and feldspar deposits are found at, .
1. Boralasgamuwa, Dediyawela 2. Raththota, Bordasgamuwa
3. Metiyagoda, Rathtota 4. Dediyawela, Metiyagoda

Species of Reindeer, Panda, Seal found in,
1. Tropical savanah forest. 2. Tropical rain forest.
3. Conical forest . 4. Temperate forest.

Ninety five pecent of natural rubber is provided by,
1. South Asian and South. American countries

2. South Asian and South. East Asian countries.
3.  South American and East African countries.
4. East Asian and East African countries.



31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

depositing the sediments of the river in a plain to form,

1. Marsh 2. Island 3. Braided river 4. River mouth
(ceerrereeneennens )
Green house gases affects the bad weather conditions find the group of gases .
1. Methane, cloro floro carbon, carbon dioxide
2. Nitrogen oxide, Methane, Oxygen
3. Water vapour, Nitrogen, Carbon dioxide
4. Cloro floro carbon, Argon, Methane
(ceerereeeneeenens )
The drainage pattern of central hills,
1. Annular 2. Radial
3. Dendritic 4. Trellis
(ceerrereeneennens )
Least population density is found in the Province,
1. Sabaragamuwa. 2. North Western.
3. Northern . 4. Central.
(ceereereerieneens )
An Organic fertilizer center is found at,
1. Gonawala - Makadura 2. Kaluthara - Bombuwala
3. Mahanuwara - Gannoruwa 4. Anuradhapura - Eppawala
(ceereereerieneens )
A - East Asia
B - Arctic and Antarctic
C - North west of Europe
D -  Central Australia
Find the densely populated region in the world using A, B, C, D
1. A,BandE 2. B,Cand D 3. A,CandD 4, C,Dand E
(ceeverreeniennens )
Select the matching pair out of ABCD topics and answer the questions 37 — 40.
A - 1.spread epedamics. B - 1. Acidrains.
2. population 2. Sea pollution
C - l.increase of global temperature D - 1. increase in Literacy rate
2.Nuclear experiments 2. Per — capita income

What is the pair of topics which indicates an increase in the first causes a decrease in the second
I. A 2. B 3. C 4. D (corvemrenenenens )

What is the pair of topics which indicates an increase in the first will cause an increase in the second
too?
I. A 2. B 3. C 4. D (corvemrenenenens )

What is the pair of topics which indicates a decrease in the second will cause a decrease in the first
too?

1. A 2. B 3. C 4. D R )

What is the pair of topics which does not show a direct relationship between the first and the second.

. A 2. B 3. C 4. D (oo )
(1 x40 = 40)
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This paper consist of two parts I/ 11.

The questions in part I is compulsory. All three part should be answered.
Four questions from II should be answered.

The total number of questions to be answered.

The total number of questions to be answered is five

YVVVVY

Part -1

01. (a) Study the 1 : 50,000 topographic map provided and answer the questions. For question from (1)

to (iv) select the appropriate answer from the Parentheses.
(i) What is denoted by number 01

(tank / tank bund / main road) (marks 01)
(i1)) What is denoted by number 02

(forest / other crops / sanctuary) (marks 01)
(ii1)) What is number 03

(rock out crop / forest Reserves / forest) (marks 01)
(iv) What is the main commercial crop in the mapped area? (marks 01)
(v) What is the administrative boundary towards the south — west of the map? (marks 01)
(vi) Mention two Government Institutions found in the A square. (marks 02)

e Read the three statements given below and write @ if the statement is correct and @

if it is incorrect.

(vii)Paddy cultivation is done using irrigation ..........cccceeeveeeveereeeneensieennennn (marks 01)
(viii) Ag road is approximately 10Km ........ccccoooiiiiiiiiiniiiiieeece, (marks 01)
(ix) There are grasslands and woodlands close to main river ....................... (marks 01)

(b) Study the world map provided to you and answer the questions given below. Write the answers
using the answer the questions given below the column of boxes adjacent to the map page 7.
Three English letters are given in front of each question from (i) to (v) select the correct letters

and write it in the adjacent box.

(1) Cyprus Island W, X,Y

(i) Tokyo city N,O,P

(ii1) River Ganges R,S , T

(iv) Mediterranean sea K,L, M

(v) Great Barrier reef B,C,D (marks 05)
(c) Study the Sri Lankan map provided to you. Write the answers using the column of boxes adjacent to the

map page

Select the letter that indicates the correct answer for each question from the map.

(1) Muthurajawela wetland G,H,]J

(i1) Vallachchenei paper co - operation A,B,C

(ii1) Victoria Reservoir D,E.,F

(iv) Colombo Port O,P,R

(v) Thambapawani windpower station K,L,M (marks 05)



02.

03.

04.

05.

06.

07.

08.

Part - 11
(1) (a) Name two factors affects for the existence of Biosphere.

(marks 02)

(i1)) Name the boundaries of Lithosphere Hydrosphere and Atmosphere and the Biosphere. (marks 03)
(ii1)) Mention two human activities influence the existence of Biosphere and describe one briefly.

(1) What are the two main section of Marine fishing?.
(i) (a) Name two fishing gears used in Marine fishing.
(b) Mention two physical factors favorable for marine fishing.

(marks 05)

(marks 02)
(marks 01)
(marks 02)

(ii1) Write two problems of fisherman of Sri Lanka and describe briefly one steps taken by

government to up lift the industry.

(1) Write two importance of Tourist Industry in Sri Lanka.
(i) (a) How many Tourist zone are there in Sri Lanka?
(b) Give two problems of Tourist Industry in Sri Lanka

(marks 05)
(marks 02)

(marks 03)

(ii1) Mention three problems of Tourism due to covid pandamic and describe one briefly. (marks 05)

Use the following map where cyclones occur to answer the questions.

(1) Name the types of cyclones effects in areas of A and B.
(i1)) Mention two effects of cylone to ,

(a) Physical environment and

(b) Social environment.

(111) How could you prepare for a cyclone according to disaster management circle.

(1) Name two secondary world population concentrations.

(i) (a) Give one physical factor for uneven distribution of world population and,.
(b) Two human factors.

(111) "Population is a resource to a country" Explain giving three examples.

(1) Write two uses of developing infrastructure facilities.
(i) (a) Name one step taken to develop Urban areas in present Sri Lanka.
(b) Give two welfare facilities offered to citizens by Sri Lankan government.

(marks 02)

(marks 03)
(marks 05)

(marks 02)

(marks 03)
(marks 05)

(marks 02)

(marks 03)

(ii1) Name three Economics benefits we obtain from Port City of colombo and describe one.

(1) Mineral resources found in Sri Lanka divides into two Name them.
(i) Write three types of mineral sand found in our country.

(marks 05)

(marks 02)
(marks 03)

(ii1) Write three problems of using mineral resources and briefly describe in two ways how to

conserve these resources .

(marks 05)
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